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CONFIDENTIALITY
Rights to the content of this work 
© Copyright 2018 by Blue Ridge Solutions, Inc. All rights reserved. This material is protected by the Copyright Act of 
1976, as amended, as an unpublished work and the foregoing notice and legend shall not be deemed to constitute 
publication or an intent to publish thereunder. These materials are proprietary and confidential information of Blue Ridge 
Solutions, Inc., and may not be disclosed and used only as authorized in the License Agreement and Confidentiality 
Agreement controlling such disclosure and use. 

Modification to the content of this work 
Blue Ridge Solutions, Inc., reserves the right, at any time and without notice, to change these materials or any of the 
functions, features or specifications of any of the software described herein. Blue Ridge Solutions shall have no warranty 
obligation with respect to these materials or the software described herein, except as provided in the Blue Ridge Solutions 
software license agreement with an authorized licensee. 
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MULTIPLE FORECAST MODELS
ITEMS TO EXPEDITE
LIST EXPORT
INTEGRATED BUSINESS PLANNING 
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Table 6

Calculate Trend Based Forecast

Where number of observations is odd

Period Demand X XY X2

1 3,837 -4 -15,348 16
2 4,633 -3 -13,899 9
3 5,536 -2 -11,072 4
4 6,798 -1 -6,798 1
5 8,382 0 0 0
6 9,941 +1 9,941 1
7 11,696 +2 23,392 4
8 12,731 +3 38,193 9
9 14,204 +4 56,816 16

TOTAL 77,758 81,225 60
ΣY ΣXY ΣX2

ΣY
a        =     ---

N

ΣXY
b        =    -----

ΣX2

T = 8,639.78 + 1,353.75X

T10 = 8,639.78 + (1,353.75) x 5 = 15,408.53

New Forecast = T T = a + bX

T = Trended Forecast  value Which is the forecast
Y = Demand

a = Intercept a = ∑Y ÷ N
b = Slope of the line b = ∑XY ÷∑X2

X = Code value Assigned
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New Forecast = Current Period + WAPC New Forecast = X + 

[(X) x (WAPC)]

Y = Percent Change

W = Assigned Weight Per Period

X = Last Forecast

Weighted Average Percent Change (WAPC) WAPC = ∑YW ÷ ∑W
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New Forecast = Last Period + Moving Average 

Level Change

New Forecast = Y + W 

Y = Last Period

W= Moving Average Level Change of Last 

Period

X = Period of Moving Average Amount

New Forecast = Last Period + Moving Average 

Level Change

New Forecast = Y + W 

Y = Last Period

W= Moving Average Level Percent Change of 

Last Period

X = Period of Moving Average Amount
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CUSTOM GROUPS
ASSORTED INCREMENTAL ENHANCEMENTS
SEASONAL IDENTIFICATION & DEMAND CLASSIFICATION
AUTO REGRESSION FORECASTING
TOP DOWN FORECASTING
ARTIFICIAL INTELLIGENCE
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ITEM/LOCATION

Item #1

PERIOD 1 PERIOD 2 PERIOD 3 PERIOD 4 PERIOD 5 PERIOD 6 PERIOD 7

3 1 0 0 2 0 1

3 1 0 0 2 0 1Item #1
9 1 2 4 6 5 4

2 0 0 1 4 3 2Item #2
4 0 2 3 0 2 1Item #3

CA
T. 

A

DEPARTMENT/LOCATION
Cat. A

16 12 10 15 13 10 8

4 6 3 7 4 3 0Cat. B
3 5 5 4 3 2 4Cat. C

De
pt

. I

9 1 2 4 6 5 4

CATEGORY/LOCATION
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